YYYY 4 MM H DD H
BRIERINF 2R s Hh

Mk, REA,

W5 H 24 F D ECH

IR (il B /2 <82) D BARE

#

oY ¥

DM, T ETHIERBOC L L BEVUHL BT 3, RO CEiEEB Y JE

CHfLH L BT 9,

LETN

SHH O EEaE

HHi/F R O RS AL

: iﬁm% S D R
KHNAE ABC K& Do SNE DBt
.| 8,800 ] FUERBL O FLH
FLEARIL OXA#Y550 1 x 16 A%y = 8,800 [ < MCERN - IN(#E-¢2LEE)
XHTT B E AR
KHFHAOHZ | m Hf) N (R DA
AR R S H R ZHFF IS © yyyymmdd-xx-ABC-nnn S I 0 H 2200 S0k
FFRI 44 1 9,900 M
(2)
THNE ABC K& o5t £t A
S| 4,900 M
TRUE AR HAFZ 700 X 4 A5 = 2,800 1
BETOFEDADE 2,100 X 1.5y 2 = 2,100 1
2,800 H + 2,100 1 = &5t 4,900 H
KHTT i E R N
THEHAOH% | m A SCH T O B /2R ) o Rk
AT S Fr il S HEFAT %5 yyyymmdd-xx-ABC-nnn
FFR[ 44 © 6,000 M N

GBELICFROHEEDS D 5 55

Rl Rl 5 & Pl e AH D RCHK




2.

FHI/FER DO

LGS
(1)
XHHNE ABC K& DRI 1 72 X5k O BR O HE
.| 3,362 1
RUE AR O =P ENCEEKRIHTER) ~ H B 28 GRS ~ H
227 x 2(fF{85r) X 2 A5 = 908 1]
@  Rile CRRARIHTH) ~ B 23 e GR 2 HRH) ~ H &
227 x 2(fF{85r) X 2 A5 = 908 1]
@ HF (R ) ~ BB/ MZ CGR 25 ~ H
318 1 x 2(fFf84r) X 1 A9 = 636 1]
@ KRR G2 A ~ ik GRS ~ H
455 1 x 2(fEfE4r) x 1 A48 = 910 M
908 1 + 908 + 63611 + 9101 = &7t3,362HM
ST Tt A
Y HH mHdH
WEETH | AL
% WEF I3 A v 74 VEMEZ o 72 7= 0 Rk ZH 7 L
(2)
XKHHNE ABC K20 Bifg 11 7= 255 D BE D fiokHE
B 528 [
SRLE AR OXAZE83H x 6 A5 = 528 H
KHTT T AR
< HH mHdH -
WEEH | AL
5\ | WEERESA Y T4 VBIfER o 2 e RkkO SR L

Z O i e B BH A (2055 D I

GBI [FAIRR D HEE 2570 W R
(72 L] L&l

(ERHFFOLH

S H D EC#HR

Lk



